F2-15HK

SRR

REFTMEL AR HETMAE

BHES ITEFER I = 4% I = @ Fr F E M4 (Feddr) AFLAK I = #® =
i D(H&4-5) BEEIBIE (R RS — T B OREIER 1 SEFT L=238m. 28 &/T L=112m., 35 & L=104m, 45 & L=547m
ﬁ‘ﬁ?ﬁ§1% ®7K5E‘§% . 7) (Fﬁﬁ%%ﬁﬁﬁll\i*ﬁ@i) ¥60 841 OOOF':] —_ l&ﬁﬁ% iEIﬁﬂi:E%{LEASC Af3572m; E‘ﬁ*ﬁgé\fc A:46|Tjs ﬁ?ﬁ%*ﬁgASC A=87TT\2(T§F§)
QT KER @T/KEHRBIE (2A4R7-2) NI oD HEET - BAEMAEASC A=1478m , BAEMKIEASC A=87m (7R[E) ith
(R7) QOANFBEAEME T (H600) 11EHFT. T LERABIWME T ($500)9& /. FTEMTERETIER. AHFIT1HX
EEFEHMEDRED TEDHEIEE i Bk EE ZDith
HEEE  |mwmEo| FAE |THms o o | ERBE] mip . |BERTE| SO EBTE | ERTH K507 | FET | smn | reos o | EFHHED | HRABIEM | REFLE BRI R A M R D R e
ﬁ% I%%%ﬁ AEEFE I$ﬁk’-ﬁa CPDHET?.F %?glﬁ I$£,{ﬁ§ I$I’j€ﬁ‘ﬁ ﬁ%ﬁ ;%JE%(E%;%EF EHHIEE ﬁ%%fﬁﬁ ?ﬁf’ﬁ%ifﬁ %y‘ t'li;ﬁﬁg iﬁiﬁ *E*JJ: BHJ\' Im;{ ﬁﬁk 5]\ l_v:‘__«-F EH&IEE
[y~ 1 2 1 2 1 2 2 4 4 1 — 1 1 2 1 2 2 GRi&=) R =) — 31 10.000
[fifiA% LASY O BT i 5R )
EEFEHMEDRED TEDOHEIEE i Bk EE ZDfth
AHLE HiiED| mE | TERE o o | ERBE] mip . |BETE| SO EBTH | ERTH K507 | FET | smn | rees .o | EFHHED | BRABIEM | REFLEZ BRI R A MR e
ﬁ% I%%%ﬁ AEEFE I$ﬁk’-ﬁa CPDHET?.F %?glﬁ I$£,{ﬁ§ I%mﬁ‘ﬁ ﬁ%ﬁ ;%JE%(E%;%EF EHHIEE ﬁ%%fﬁﬁ ?ﬁf’ﬁ%ifﬁ %y‘ t'li;ﬁﬁg iﬁiﬁ *E*JJ: BHJ\' Im;{ ﬁﬁk 5]\ l_v:‘__«-F EH&IEE
ALt REHE 0 0 0 0 0 1 2 4 0 1 — 1 0 2 1 2 2 0 0 — 17
[ sFmezmoFs [ 17000 |
[ EFMERR
AL (BiiRE) FAEREEE(KEEE) HIEMEA (C)=| ®RETEIE % - -
ALE (A) EAR D ® ®-1 B2 Mm% = (B) 100+(B) (C/A) x100,000,000 EALE FHREREORR
K 4 E R £ A H
< & A H
<M & B H
AFLE LB (BiRE) BER (EZEFTFMm{E) XA INE A, SHMEEIS/N R EAENIE A ALEMMETRT
AT {E 100.000 X2:MEA=Ra/&aFR) X (NEADFHR)




